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ouT IN Gross __ Hdcp Net

B a1 41 41 6.0 35.0
EER I B 46 46/ 108 35.2
3 BEE =i 51 51 144 36.6

4 AR FIZE o1 511 144 36.6
[562) B335 Z==EE e 44 4 72 36.8
6 iy o4t - 49 49 120 37.0

7 A0 /S 49 49 120 370
8 S 48 48 108 37.2

9 aK RE 94 504 16.8 37.2
[101iL] 2 48 48/ 10.8 37.2
11 MR E# 42 42 48 317.2
12 FH ERE 23 53 156 374
13 TR FE 47 47 96 374
14 2@ B3 45| 45 1.2 318
[ 1543 ] 1 ZEX 49 49/ 10.8 38.2
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S—FaAUR[KREHFRAEF] R 0642068070
ouT IN Gross Hdcp Net

16 A B 48 48 9.6 384
17 (BFE1E &% 47 47 8.4 38.6
18 % I AER 45 45 6.0 39.0
19 A o0 o0 108 39.2
[20fz] wm ER 43 43 3.6 394
21 BA —& o6 06 156 404
22 INVK FUYF 47 4] 6.0 41.0
23 T E=F 06 o6/ 144 416
24 h &=E 00 50 1.2 4238
[25Z] #E B&— 238 08 144 436
26 ¥H Lar 63 63 18.0 450
27 =H & 89 80 180 67.0
28 AT HEH 95 950 180 77.0
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